
Course: Abs Beginner Bridge Printed: Nov 06, 2015

Topic: Responding to Opening Bid of 1 of a Minor  Answer Key Due: Nov 09, 2015

Non HCPs in red Dummy Pts (raising partner) in blue

Assume partner has opened 1 Club, what would you now bid?

1 K9xx Axxx 2         3 Jxxx 9853 4         5 KQxxx Ax 6

xxx Kx xx Ax x xxx

Qxx KJxxx AJxx xx AKxxx xxx

Kxx Qx Jxx QJxxx xx KJxxx

Points 8+0=8 13+1=14 7+0=7 7+1=8 12+2=14 8+1=9

Bid 1S 1D 1S 1S 1S 2C

7 Qxx Axx 8         9 J10x Kxx 10

Kxx KJx Qxx x

xxx QJxx Qxx xxxx

QJxx Kxx AQxx AJ10xx and

8 14 11 8+3=11 dummy points

1NT 3NT 2NT 3C

Partner opens 1 Diamond

11 xx Kxx 12      13 AKQJx

xx Kx Axx

Axx Qxx Kxx

KQJxxx AJ10xx xx

10+2=12 13 17+1=18

2C 3NT 2S

2nd best=2C
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